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PROVISIONAL ANSWER KEY (CBRT)

Name of The Post Assistant Director of Gujarat State Fire Prevention Service, Gujarat Fire
Service, Class-1

Advertisement No 131/2019-20

Preliminary Test Held On 20-12-2020

Que. No. 001-300 (General Studies 1-100 APD + Concerned Subject 101-300 APA)
Publish Date 22-12-2020

Last Date to Send Suggestion (S) 31-12-2020

Instructions / ¥Aeil

Candidate must ensure compliance to the instructions mentioned below, else objections
shall not be considered: -

(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically.

(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet)
published on the website.

(3) All suggestions are to be submitted with reference to the Master Question Paper with
provisional answer key (Master Question Paper), published herewith on the website.
Objections should be sent referring to the Question, Question No. & options of the Master
Question Paper.

(4) Suggestions regarding question nos. and options other than provisional answer key (Master
Question Paper) shall not be considered.

(5) Objections and answers suggested by the candidate should be in compliance with the
responses given by him in his answer sheet. Objections shall not be considered, in case, if
responses given in the answer sheet /response sheet and submitted suggestions are differed.

(6) Objection for each question shall be made on separate sheet. Objection for more than one
question in single sheet shall not be considered & treated as cancelled.

GHedIR oflAeil Yol Uldel scloil d3el] Avid], Boell ditl-Uel i) 539 231d] tla
Qq2l «1&l

(1) GRedR ditll-YUell (ud S #4199 ditl-yUel Ustsefl % sdlell 2.
(2) gilsﬁu% Ll%_llw-ll@ ditll-YAeil % Sl deA L2 U URied €A [Hud dittl-ydst UnAsell sl sl o
ISR

(3) GReAR Uldla Ulatiti HAG UsY RdsIHi U6 YslsHIS Yo ditll-YUell 2% ol Sl dHIH ditll-
YUst] A2 U URied = Ulldaeid w12 S1 (HI12R UBUA)stl WS SHIS Yool Ao d e
% 5ql.

(4) U122 YBUA Hi [EY sl w4 [dseu RidIdell ditl-yUel Ll ddHi 41d9) A&l

(5) GRLAR B UBlail [A5EU YR ditll zaq 536 O el [A5@ Y % i[04 ﬁ%aq 8 2 %oy GRed R Uldlefl
GriRdIHi wiUd sldl %2, GHedIR YUdd %allod we Griaeledl osaliod (@at s2l dl GHedR %
539 dlitl-YYUel liHi Q9] i&l.

GRENERIERNEL qiul-q[uei e qmzci.a[ﬂs o ditll-yUel UAAsHI A 52l ad R usllefl 29g2d1d 534
&2l dl d 243lell ditl-YUell edlel IRl oAl



001.

002.

003.

004.

00s.

006.

dR8ldR Heled Hl2 (A9l DA A £y (A / s [l a8 2

(1) > 422 AldSY2L 8 A ©.

2) B e 21 92 Uldsiz Al calad d Auad x1eisd 2 [AsRida 2] Gerge .

(3) weondl @uaz-l AN sARISD grt HlEl Ut Yedi 32512 (A1 dg y:[AHiR saui
2y,

(4) dRQdR 22 A 2w g3l Ay 6, [Amgy 43, eaL £3 2 [Dags

@)1, 2,311 4 (B) WA 2,3 21 4

(C) WA 3 MM 4 (D) 1,2 %43

garil HiRL (A9l DA UL £ (el / s (Al aea 9 7

(A) d GTiR AAdHL 2Udd Gl Yadrdly an .

(B) earil I\ 04l w1ivy 25021 Gty [Qiew Ha ¢,

@A) @ (B) vir

(D) (A) 1 (B) visunt Al

uzion a0l (gl DA WSl s (A / san Qi wen e ?

(1) u2lou RIS A HSIRAR A% A1ed) suld e Al 6.

(2) el 12 H) AN A AUL Sell.

(3) avue usai il A A (Weft) A 2a1ail as-llsd [Zua $551d s8ami 2ud ¢ ?

(A)1,2 %43 (B) 1A 2 244 3

@) 12112 (D) Gur-u UA sy Al

et agAx U-2lor (gl aA-u Wl s [t / s (sl a8 ?

(1) $ASIRL HA G (Strong) 22U BUALAL 52l Sell 24l US-2loAuir A3l [ d 2Aivl ealaa
UL Sl Sl

(2) sASIRL US-ElounE ulSaviiA 2uequeiedl uonde saL UeL UAE 5l Sdl.

(3) 22U i v 530 WM, Wl (minerals) A Al A2l ALELHI UL sl 2UadlL Sdl.
@)1, 22143 (B) HA 2 341 3

(C) "R 1 21 3 (D) {1 1 211 2

wRI (Al (@9 DlA-u A4 & [/ s Qi e e ?

(A) A 315 WAl suRdl (@R 8dl g1l il Wgd 24 gl GuloL 2L 8dl.
(B) d Hi2weudl xaiel sl quuadl gdl.

@A) @ (B) vir

(D) (A) »1acu (B) 2Asuat -l

el A -t GrugisR all (gl DA WS £ (At / s Qi wen €9 ?
(1) au-ll 5ld “Nishit - The God of Midnight’ 1 514 A €.

(2) du-ll aasa ‘suaell Hol 3L uusal .

(3) ARl gld adl’ 2 w2 AuL ©.

(A)1,2 %13 @123

(C) WA 1 24 2 (D) HA 2 241 3
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007.

008.

009.

010.

011.

012.

013.

naH Yol dond-l yarudl Ben (gl DA WA s [ / san Qs a9 ?
(1) 1945 Hi 227 240l 2[4 Hddl [Bew 2 uan yol doud-l desidl Beu gdl.
(2) S afla 2 2 2als- [gas sdl.

(3) d Al 15 Hl Al 5[ 241 A uR 2uRd ¢dl.

(A)1,2 %43 (B) H1AA 1 244 3

(C)HA 1 241 2 @) 2 27 3

%l SlARAL 56 UHRAML, oMl Y2 9% 53 8 d Wld [Aogu- [Azen Hl2 sui 2udy © ?
(A) GlgR (B) M&IAAQH

@< (D) 4l 3au

QA Q4L 56 oAl wlou Ad eAscdl €9 ?

(A) [asnallen [Qaulasnan — Gur ue (B) 8H$S 3aRl — [Swad uga

(C) Geulidl 512l — MR @)>rad st :qu — uiguea

As-cdlu s Qg A& U8l sy [ [ s lasd a8 ?

(1) cgull-64iRL (Bluish Grey) 2dlaL ugaR (Sand Stone) il GuaioL.
(2) oles 2t B 4 uR 2R [Ny Az,

(3) ALAUS WASL GIRA SUAU HUUUHE U Sl

@) 1 (B) HiL 1 241 2

(C) 1A 2 i1 3 (D) Gua-l W4 visuwt 1l
A Q4L 56 sl wlou dd eAsel el ?

(A) Rl US+EloL (Warli Painting) — HSIR1N

(B) Y251 UdloL (Thangka Painting) — [alzsn

(C) Hogw el (Manjusha Painting) — [Brsiz

@) 551 US-Aa (Kalamakari Painting) — 30

A2 WAL SAL 4 A A UL 215 2 Al ?

(A) B (B) &Ml
(C) As @)z
A QaAl A ... Acdld WAS WA AsnA e 69,

(1) 48l “Blood and iron” (R5d 21 dig) L U 24u-udl sl

(2) d [2eL 211 WA (Sijada and Paibos) Ul AHIRASL 2UAS AL Sl

(3) gl agsd [Acudt ((Ram-2A-2108) Yriolsrt 53 24 % AlAs ¢d Al 2 ALY A gl A Urait 2l
gly.

(A) §A01E oty (B) HegHl

@10 (D) 21c1GElA vlaw
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014.

015.

016.

017.

018.

019.

020.

021.

022.

Yt

d3Hl allls 2120 dloadl 282 aleus udan giat uicoll wHl curdly Adld AHi AU uaH
audl ........ 8dl.

@idisua 2002 (B) Y571 BHRD)
(C) »=(dEl ain (D) SIEIRUS AARID
Wl HiRaxi (¥l 2 g e ?

(A) Al [Rena W2 204 %ridl YR @Ruadiml 2ddl $2.

(B) s IR o4l el

.Quu{l A=y 2 2AESAN20 Al W2 o) H"@;’a (Forced Labour).
(D) #is usik-l [ala,
DA WA S ouotd MiRanl 2iAw Riaadd agzsud s397?

(1) Charter Act of 1813
(2) General Committee of Public instruction, 1823

(3) Orientalist (24) and Anglicist (?){°Léflcllél) Controversy

(A) 1A 1 244 2 (B) H1AA 2

(C) WA 1244 3 @)1, 22113
el WY AN .......... GIRL SRAAUHL UL el

@)caa vun (B) ASHE WS
(C) &d) (D) (31 we
e onusaisit AgouHl 2 dv-t Yy ......... o=l

(A) E1D Y&l @):ruw ol
(C) i3 A (D) HESIR A
SUmlL AT 86U A A YA -l G 61y ?

@)ouz (B) gH1y

(C) x1501R (D) sidllx

Ul gaui-u 3gein-udar (Aol N U4 sy [ / sui [l a6 ?
(1) d AUl QA Sl

(2) ARl S151AASHE YL AT, AHRSIH S,

(3) Ay Aaswll 2 d-l @S (Son-in-law) el

-

(4) 212UG ASIULAL AL Lol 8011 Hi2L UL U dBl @il uisoL Aadl dla gl

(A)WA 1,2 24 3 (B) "1 2, 3 i1 4

(C) WA 1244 3 @)1. 2.3 24

f2l-u U siel wizeflui 2dlsi-ls ieueagiR-l azud s30 ?

(A) 51D AAD (Kanyaji Ravaji) (B) AU AAD (Jayaji Ravaji)
(C) awdlR® AA® (Lakhdhirji Ravaji) .Clltl"\bﬁ A4 (Wagjhi Ravaji)
AYARUA A ... AL AL £ AL UAHAUR iUl WA 602U .

(A) t1eoirt @16 vilaw

(C) HeHE ol dads (D) 5132 dads
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023.

024.

025.

026.

027.

028.

029.

030.

031.

032.

1857 [Awa oug (81812 A yrivlswt ouoid N WAL s [Qtuq / san (@l a8 ?
(1) Auni gl wldd Bisami 20y 8d.

(2) A~uHl gE1gel AL totel wisal W 2w, oRvi gdl s2efls anlail [Briasius 982 sami 2udl
Sdl.

(A) WA 1 (B) M1 2

(C) WA 1244 2 @)1 »1aq 2 2sua adl
A U4 59 ien2il 24 [Ke i1 ananui cuol dlal gdi?

(1) [Sg neuen (2) AU U Aas Y (RSS) (3) Hrdlu dla
(A) WA 1 (B) H1AA 1 244 2

(C) WA 2 1 3 @)Guz-u WA Asua adl
A1 WA & [Q2rall 24 Hig, 20t (Metal jon) 41 € ?

(A) Q2@ - A @ 2fx - B12

(©) [@aua - B6 (D) AoiisAdln

DA UL sl 00 2 A ([Augy) gie adl @l ?

A) Aluid (Newcastle) 2191 (B) Blue tongue
.Babesiosis (D) Marek’s Disease
A ([ug)dl Asfa 28 a1 sl ......... UHAL WA, Gewen 52 69,
.Interferon (B) Properdin

(C) Gamma Globulin (D) Hybridoma

depu sl A agllaiR .......... A<ls 0w 69,

@)ruslls 2212 (B) 25 vid:0d

(C) Alginic acid (el »ilA3) (D) AJEL

A2 WA 200 A8 Al 2uawA a9l ?

@14 (B) ¥an

(C) Y (D) Ty

ALY A, vgial 3 % Wi AR dot AR ALWH A3 D d .. a3 2itreun 69,
(A) Deoxyribonucleic acids (B) Antigens

(C) Enzymes (@r@ill:‘;\l) .Antibodies
gl lyrre ddls auud uadl .......... Slu e,

(A) Ml SIA3ALSAS 3 (B) el uSzionn
@1l AR (D) Y51 128

adHir Al 2sidiui A U4 ) 21 wial dozdlugw (Large Luminious) 8- Alell ay, silam
ey 69 ?

(A) Mercury Vapour Lights

(B) Fluorescent bulbs

(C) High Pressure Sodium based bulbs (G geugiaw ALlam 2uaRd v1e0)

@) LED lights
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033.

034.

03s.

036.

037.

038.

039.

adHir aHaHl 2sldiooui [AYd HWie Y .......... ol s Slu 97

(A) H3 AC Power 4l (B) H12A DC Power 4l
@) AC 3 DC Power g1 5122 ¢ 23 (D) Gur-u UA sy Al
GAGAN Bus AlUS S1A5HU A .......... USIR-1L AL AU,

(1) Geodynamics

(2) Geographic Data Collection

(3) Location based Services

(4) Navigation and Safety Enhancement

(A) WAL 1 244 2 (B) H1AA 3 244 4
(C) WA 1 41 3 @)1, 2,3 24

Sedld Aus ud sRud Rrualds At e (Central Salt and Marine Chemicals Research
Institute) 24 JAAAAH .......... viid [Rud €.

(A) iR @) cua-oR

(C) AR (D) w512

2 24 gnaR Ssiflen (wutaze uudl) WAL il vl wal@s Gaunesdl Al ay ¢ ?
(A) vieal Q{ﬁﬁ\l (Open Oceans) (B) vidlu ¢9199¢fl (Continental Shelt)
."lél"ll Hu ol viLdl (Estuaries) D) sl (Streams)

orud (Al DNA-u WA £ (At / s (Al aen €9 ?

(1) 214l Aasu-ll e[ 5269 1 Alel)l wial [Feal 9.

(2) 1AM aAsa-l e[ Alel -u-l (el siae.

(3) AXRAAHL Yel 2 Alell Ay azdl uRadl Breal 8.

(4) 1RAAH] HELUE B Al ay, ardl AMucd vuadl (el 9.
(A)1,2,3 214 @) 1242
(C)WA 1,2 243 (D) WA 2, 3 1A 4
orud (Al A1 U £ (At / s [Qail wen 97

(1) AeARSI6L, trlAsisl A1 M3 A 2ulenld (el .

(2) 54 14 [yeail >ulzoanld (et adls YRR saumi 2uen 9.
(3) AAaHl 2ul2ld adl >u 85-90 cm g2dl 8.

@)1, 22143 (B) HA 2 341 3
(C) WA 1 24 2 (D) {A 1 241 3
AN el (gl DA WAL 53 (et / s (Qaunl aes 972

(1) oMl Al Aornani denss 323 [3.41. ©.

(2) HEL gl adeirl deRudui densd 161 (3.4 8.

(3) Al gl agai-l drnani denss 322 [5.41. ©.

(A)1,2 %43 (B) 1A 2 24 3
@) 1212 (D) 1At 2
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040.

041.

042.

043.

044.

045.

dornc-l udarouil (A2 - AA £y [Qeun / s Qe a8 2

(A) sRacdll uddou AoRudHi 200y videdl A3 A 9 x4 aiflysl 2w adl wadte vud [
uddHIUHL AHS AU 8.

(B) »Raccll-l 2uY2 Wi A gidl, viseHl, $32 2 wnoueol [2au ds o © 2 [dea il A
N 8.

@A) a2 (B) vir

(D) (A) ¥ (B) 2Asust .

MRAHL 4cdlsun Aol ouoid DA WA & [Qanq / s [l a6 ?

(1) A2 BriR ydlu G dal AAAAH 5297 201 3 HRALSUAL Bir-5 Hi 2ud 8.
(2) AAAAG, SL5AWR 24 4Rl U Bi-3 Hi 2ud 8.

(3) YR 27 AHELUE ASRA A 4ALSUAL Bii-4 Hi 204 9,

(A)1,2 %43 (B) 1A 2 24 3
(C) AT %1 3 @)1 1214 2
A2l €11 A wEl-IT 18 A,

wel-1 eIl
1. A4 a. Al5A, VUL A AAAS
2. AMEL b. A2, 58
3. wdl . MIER, WU
4. aw d. R
@)1-2,2-b,3-¢, 4-d (B)1-b, 2-¢, 3-d, 4-a
(C)1-¢, 2-d, 3-a, 4-b (D)1-d, 2-a, 3-¢, 4-b

A1 U 56 AL iy Ld Al ) ?

(A) Al 247 Dol Wdl — w2iorn, 512534 241 Al UgIAl-L -L610] UHIRL.

(B) @212 HIEL — tii@Mi a1 da &R usld.

(C) s 1A — Yus WAl L Axdlu ugial da s1eis dedld 1e1v) ueL 4R1d 6.
@)Guz-u W4 AAsuat 1l

A YA sy (At / s [l a9 ?

(1) Ry 2 suRaul [Briaa-dl Aglsuni Alell ay ulam ds 2udd 8.

2) [Riy, i [Asi2 @xui el Y 125 20ddl [R4 A8 (Glacier)uidl Ggma 8.

(3) 20w 2 NiHw Wi >udd) 2l B4 €l (Glacier)Hidl Gg™a €.

(4) UYL A e uddroumi 2uddl A1 Yot $1 [84 el (Glacier)idl Gema €.

@)1, 2,3 24 (B) WA 2, 3 11 4
(C) A 1, 3 A 4 (D) WA 1,2 244 3
“yuivila’u ..., 12 nelldl €.

(A) 61271 Bewgn (B) s181-u Gewgn
@) - Geuen (D) Q- Gewg
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046.

047.

048.

049.

050.

051.

052.

053.

054.

QURARE 20dd DA WA 54 a0 A 50130 YU deizu [3e0 (Vertical) W s ell ?

@i (B) 41§

(C) A~ud (D) R3an-ay2u
HeurL G ugami A WS suusi-l wdl A o e ?

(A) Laterite soil (B) cld Hiél

@) sl (D) Gua-u UA sy Al
¢912L oY1 B2 NS AHL SUL USIRAL WISl AU HA €9 ?

(A) 2[B3H5d M3sl (B) siu-il (¥Ngel) M35l
(©) [agd wssi () IEIRTREREY
ofrRainl YuRill ugldzd la-u W4 su eguidll dani 2udl € ?

(A) USA (B) UK

(C) 2l @)z 2ulz5

GURAML GIHIRRIAL PUHBL AFAR, HIRA AWARS A WA su1 s adAdid YA amarg
QAL PUUUHL 20 €9 ?

(1) [Q012+1 2adad (Liberty of thought)

?2) EEIEY (Faith) a2l Gui-udl ad=1d (Liberty of faith and worship)

A3) wi[FHeulsa-l adtdl (Liberty of expression)

(4) >ua-l Aadtdl (Liberty of belief)

(A) W= 1 244 2 (B) H1AA 1 244 3

(C) WA 2 241 4 @)1, 2,3 24

arguld/rawal w2l sieidla siadlell alsaod uldau ouoid N W sy [ aea -l ?
(A) AELAA 2 A%A- Q3L 519 UL us1R-0 5% (Duty) [Actiac W2 $% (Compel) Wil a3 .
(B) Wlctl $3% Widr {12 AL A3A 51O AELAAA FUALIR <14l

(C) A%AN AL YUKER el HIZ U 2NZ) s sustd AerddA uldoiy €.

@[50 uldRan 2 51 @alzan Az asid sdandli sed vgiadHi ussiRa w2 wldsifd s2 8.

A 5 Alsd A .......... ar-fl GHR yul 531 Sy, di d-ll Yaiua-i a6 a3 uisdll 530 asiu 9.
(A) 18 ad @21

(C)25 (D) 30

GURCAML GIHIRRIAL A 2AIE 343 L [R€lA ......... adls gilid 52 8.

(A) A2 AL (National language)

(B) AU MM (State language)

.Q{El'{l AR AL (Official language of the Union)

(D) Aa-ll adlaldl (unl (Administrative language of the Union)

ARl s8R AL ............ HL ML AY 1 A%UL A=A AL AR SAUHT el 69,
(A) X @ x1
(C) XII (D) IV
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055.

056.

057.

058.

059.

060.

061.

062.

063.

(21812 321 g1 s wRRUH Biddld HIRAHD ALl waudl-l az2uaq as ?

.Charter Act, 1853 (B) Indian Councils Act, 1861

(C) Government of India Act, 1919 (D) New Constitution of India (G{Rd'j, '13', "iﬁll:&'&l)
A0 U4 53y [Qannysa (Al a9 ?

(1) B2 247 Y3uiA xS 12 A At WS Wl 53 dd) 516 A ¢ sitiami
4.

(2) 6i1RRL UL ARl cavARd s, -l

(A) WA 1 @2

(C) 1 A 2 i (D) 1 242 2 2A5u8L ]

DA UL 5l WAL 2 6i AL 2 AAUEHT UAIR Al HIE [y otgHA 3Lt qad € ?
(A) Finance Bill ([adla wz3l)

(B) Money Bill (-iu wR31)

(C) Ordinary Bill (U1~ W231)

@) Constitution Amendment Bill ({121 YRR ¥RSY)

42 HL YRR 2ARRUH, 1976 gl11 MURARL t{REL Uy 1AL WS sul ase GHAUH 2ul 4
Sl ?

(A) 203 (B) uMxalel
(C) [Bin Ainels @)Guz-u WA sua adl

Apulla-n Holeels Rugidl vidslan DA WEl-u su1 w2698 861 oitnelly (Yaul) AlRun
2002 g1 HAMA e[ ¢ 5 a5 JuidRd scumi 2ucl ?

(A) 21429 51 (B) 24249 49

©)>112¢ 45 (D) A-4269€ 44

@Rl ‘Look East Policy’ 4t .......... 22l 18 2ue U 247 ygicns Abibl [Asumaa-i nAl 3u 8.
(A) 2ul3s @)= (2o ud 2R

(C) Yrlu (D) A&l x4

MIRAHL YARAB s1us- Gaildr onoid NaA-u WSl sy (A / su [l a8 ?
(A) d Getia ueua udl 8l Gaala 89,
(B) A MaH 20Y[As YaAB s1us Hla 185441 Yrd vid 2w gdl.

(C) (A) a2 (B) b

@A) »1aa (B) Hsuw 1l

QA 94 56 wlala 2 (Corporate Governance) A @l Al ?

@)1.5.R. yoru-lun afld (B) R A

(C) -ua Y& Afld (D) Geu sies ulla

ARl dny u-dl slad Ssu 2slAd aden ¢isin 24 5171 suL (iSO uoL 6 ?

(A) pu5(RUS *igin (Contigency fund) (B) is[Ad *isin (Consolidated fund)

(C) AUHA 3N (Reserve fund) .%@2 [82ue cisin (Public Account fund)
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064.

065.

066.

067.

068.

069.

070.

071.

072.

073.

Azl [Auus Asueri Rigiaui 2ildu asissi .......... 8.

(A) S HEAAL ), Y € URL Al €9, (B) ¥~H €2 AL 8, BAUR HY € U2 B,

@) e auyy evinul 9, (D) Guz-it YA Asunt ALl

QURAMT Sl ootd A1 WA sy Qs (Al aea € ?

(A) Al yalu alor-umi 2AenBiseil 48 AL HIAZU 2UULA AL VAL EIHE $AUHL UL
@) 1120 vaardlu diog-ua awlde gl e Rgua sy

(C) (A) a2 (B) b

(D) (A) 1 (B) visudt Al

D2 WAL 565 ouotd 2 G-l wigla Ald (Fiscal Policy) il {vu ¢, el ?

@)>1eldini nadlar asrdl (B) *ua Rt Ui

(C) 2uas i AUlAHl AAHAA YAdH 5l (D) AU dsiA UleAis L 2ug
124l Yaanla aiopnt ......... uR it 5l sau-l 8l

(A) 33Ul 41 2518 [As1 @), ay wulde 21 256 Qs
(C) A »A 2516 [asa (D) 2516 (a5

A0 WA 5y [Qann / s Q- aea €9 ?
(A) AU U1 200941 JRULcAa S1A5H A3 sUl.

(B) walAs [Aeua (ML T - V) Hi gl 2062 (daal 2601 918 2+UR) €2 21 1999-20004i 22.30
ulAod Sal dui AausL w21l A5 2018-1940 d 1.40 Uldad 2da €,

@A) @ (B) i

(D) (A) ¥ (B) 2Asusl sl

2ulzonla [Qenedl-Nati-n Har-Rdan 2uedl digu ......... a<ls 2o 69,

@)1~ (sl (B) At G-I+

(C) art by Ml (D) art ¥i biY oulas A0

ulH A 24269 udaa lel (SSG) Hi AARUAd UAH 51 20dd 8. AoRAdnL .......... [recu wlEn
oML UAH $H HU™A SAUML UL,

(A) Yaus1a @ e

(C) Yrd (D) €18i€

aell ARl 2011 AFAR, AR 24U R Al WERAL ER A .......... 8.

(A) 76% @79.2%

(C) 69.8% (D) 81%

Al a1 2011 214AIR, Al IR azdl-l wldad.......... 8 21 d dla uldaid sdi.......... 8.
@)57.4% s A (B) 67% i Glal

(C) 57.4% A1 Gl (D) 67% - -l

L=l A3 WElA .......... o, AAl55 52a1 (CHAMPIONS) Wil 203™ sul 69,

(A) ™adli (B) 31522l

@ MsME (D) Guz-it U4l Aisunt 1)
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074.

075.

076.

077.

078.

079.

080.

081.

082.

083.

RBI %1 615+ CEO’s, Y&l auaril [335220-0 Guell au walel .......... YAaa 54 8.

@)70 (B) 65 ay

(C) 60 ad (D) 75 ad

UN World Investment Report, 2020 201, 201941 HRA A .......... su-L Alell Wl FDI W sl
8.

(A) 5th (B) 6th

(C) 8th @)otn

uRdl .......... 2124 (UNICEF) 012 19l 2iasi e HiAa- 224l ydl uisan s yast sar
sul 69

(A) Bharat Biotech (B) Biocon

.Serum (D) National Virology Institute

EPFO A7, MIRAHL 2018-19+ uuumellA 2019-2041 200025 AisdMi ......... %l ARl a4l 8.
(A) 12% @)28.1%

(C)32% (D) u2Lsi

2{3&1 AL YRau ulRue (United Nations Security Council) (UNSC) -l (Bt sruall ue adls o ay
12 cuRdl uzigoll 4 B, G A1 UAE AAAL AU 2 ... 8.

@504, 2uad-s, S nd Aid (B) nal2ia, yourst, oH-l x4 diguia

() S=siRw, elag 2351, A4A-3 A WA (D) sendlay, araRa, Saidl v aufla

UNHCR 412, 20190 2id Yl @ .......... ulagid azdl 2 einroidl yds Alus 3 [@AralRa
ag .

(A) 4% (B) 3%

@1 (D) 2%

MIRA TB ASAUY 2020 AZAR, HIRdAL .......... A% 21 TB USEIHE 2% UELA 5l AU 2lA,
QA HNY 69,

(A) &g U (B) U1

@152 D) Bedl

QA WA s el digdul [Qasi-ie alan (A2 [Qenaa-dl el sami 2udl ?

(A) UK (B) sl

(C) AU @)Guz-u WA Asua adl

lA a6l AU HFAR, 1A 6sHE WU FHL sAAA] BUAAHT HIRA ... $9 204 6.
(A) 4331 (B) 57%1

@77 (D) 1031

MRAlL s gd d-l .......... vildHl 8l g0l 22U LCA d%d A1 A% Al Scond Squadron
‘Flying Bullets’ A4 511201<) sl (Operated) sul 9,

@)siS01qR, alanug (B) M&lw3L, Yoot

(C) 312, [Bwaa uga (D) S2L11R, HIRUAE UL
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084.

08s.

086.

087.

088.

089.

090.

091.

092.

093.

MU U517 A Al ASE) uvidil {14 Garbage (5420) Y ASAU 221 a1+ almen 531 69,
FHL A ... AL 5 2212 35 WAL 6,

(A) AHELAUE 24, A3 (B) QUARIR 1A A3IER

(C) A3LEA A AHA2R @)1 512 w11 YR

AIRAIM A A3 HI2 BLER A U HAA A GriRuvisL ... sl 1 440 W2+l 2aq Ruin
$4 6.

(A) e8gr @)L

(C) 324 (D) Gua-l W4 visuwt 1l

g g0l oL Y3, =8 w02 29 AR eunst 8. y3ui-l uu2 Gu 70 au, w2l u3 U 35

-\

ay 214 ounsi-l U39 GHR 11/3 A 8, di d gZei-ll A2 Guz sedl ugl ?
(A)31ad @2 i
(C)32.5a (D) Gu-1 Q4 visumt -l

A 2 WIS 25 S14 25 A1 12 [Bamni yel 53 A3 6. oA As- vAsdl d 514 20 [Bauui s30 a3 dl
HigH M5l d s14 Sea [Bauui 530 asal ?

(A) 16 [2axn (B) 18 [2ax
@30 Rau (D) Gua- U4 sy Al

25 sl2l5HIHl Al3d dRs S P2 58, “d Al [Rdl, Wl Rai y169”. di d si2iusuidl als
sl ?

(A) P <l &us (B) P uid

(C) P - 5151 @)Guz-u U Asua dl
15 WAL 55U 209 dl drl UR 4 5L 2] vl 2ud d-fl Acuanu sed)?
(A) 1/3 @12

(C) 2/3 (D) 3/4

12 Q4 sl 298 3/5 sl Hizl 21 6/7 sl -l 87

(A)1/3 (B) 1/2

©):/3 (D) Buz-u W Hsua Al

w15 216 Hle aivll 21 100 [33l/scusl 1330 ald 52 9. d el 2nadl 224 Hl2z aioll 244 12 A5l
AR 53 9. dl ollew 2l B3y s2efl wal ?

@)32 Bysans (B) 36 Bxl/scus

(C) 40 [3xl/scus (D) Gu-1 Q4 visumt -l
AP L 12% A Q Ul 6% F2A 814 dl Q -l 16% i P Ul 526 % $?

(A) 8% (B) 12%

@)s2% (D) Guz-i U4 2isunt 1)

oY =\

s A3 s 2 vidR-) [@Asel doud, 5 BHYsasD »30 0d dl 3 PR stdl 23 9. dl d ARk
Wdr fAs0 52¢ &4l ?

(A) 62500 i (B) 50000 1.4
(C) 45000 .. @)Gu-u WA Asua dl
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094.

09s.

096.

097.

098.

099.

100.

(Ao D2 6 [Qausl 211 6 (Aesul 2uuami 2udd 9. 2uua Qe i el 2uda Ryl W4 s
[Resul [Qanqid dulEs Ad 24643 8 d weual.

(el : (-1 - cagai d=u 8.
(A2 - earn At Yresl .
[Regul : [Feg-1 - oasn 2l gail .
[Res-2 - o1 sl yresl o,
ARl oL {12 Yoot suul:
(A) HiotL [Avsn-1 242 6, @) [Fssui-2 2143 8,
(C) [Anstl-1 1 [Fegl-2 o1 21442 8, (D) 6inl WA s waL (s viqudl el

(Ao D2 6 [Qaustl 211 6 (Aesul 2uuami 2udd 9. 2uua Qs i el 2uda Ryl W4 s
[Resul (e dulEs Ad 24643 8 d weual.

[Qal: [Qan-1 - S2eus wal swflau 8.
Qa2 - s2dls sl ywa .
[Regul : [egl-1 - o vl ywales.
[Resnl-2 - s2ells sioflot ual ©.
ARl oL {12 Yoo suul:

(A) WA [ns-1 21443 8. (B) 1ot [Anss-2 21442 8.

(C) [esr-1 249 [es-2 o4l 2R 8. @i U4 s uw Fes] 2igudl 9l

6] AUAAAL AL AL, 4641 247 AL 21 9. oA d UE A5 ival 357 Sl dl olley v 56 ¢al?
@273 (B) 441

(C) 381 (D) Gu-1 Q4 visuwt 1l

25 Gl Asals -l Alls €2 10% 6. A 245 54 =12 AN uS &l Y5 2udl Sld dal d o Yea
3L 46585 S1U dl d o 254 526l ¢al ?

(A) 3L 32000 (B) 3L. 32500

@)3.. 35000 (D) Gua- WA sy ]
s AR 2ol 4, 2, 1.... 4 74 ue 3 sa?

(A) 1/8 @1/16

(C) 1/32 (D) Gu-1 Q4 visuwt -l
1 {122 cua 21 7 W2k G- sy ansn seg a9?

@)s.5 a2 (B) 22 a Hl22

(O) 11 8 HleR (D) Gu-1l Q4 visumt ]

5 AS[As KL “LIBERTY” -l 813 “2121221”° €14 dl “INDEPENDENCE?’ Al 513 sl 491 ?
(A) 122121221211 (B) 112121221221
(C) 122121222112 @)Gu2-u A Asuat dl
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101. Find UFL of butane at 100°C [Hc = 400 Kcal/mol ; UFL (25°C) = 12.40%]

&) 12.54% (B) 13.11%
(C) 12.40% D) 11.25%
102.  An existing warehouse storing flammable and combustible liquids, considered high-hazard

storage, has a ramp at the back of the building used for egress. If the ramp serves an egress
load of 79 persons, what is the required minimum ramp width?

(A) 30 in. @) 31.6 in.
(C) 39.5 in. (D) 40 in.
103.  Which of the following best describes FMEA:
.Problem solving tool (B) Reliability improvement tool
(C) Fault finding tool (D) Team name
104.  With increase in temperature the LFL:
. Decreases (B) Increases
(C) Remains Constant (D) Behaves Unpredictably
105.  Degree of freedom from harm or danger is called as:
(A) Mishap .Safety
(C) Hazards (D) Risk
106. A fire pump’s speed is altered from 1760 to 1800 rpm. What is the new head if the original
was 120 ft?
(A) 115 ft. (B) 123 ft.
@ 126 ft. (D) 128 ft.
107. The minimum internal diameter of dry riser is
@) 100 mm (B) 120 mm
(C) 150 mm (D) 200 mm
108. FMEA can be used for:
(A) Concept generation or selection (B) Preliminary design
(C) Design improvement programme .All of the above
109. Consider the following statements:

(i) For metals, the value of absorptivity is high.
(ii) For non-conducting materials, reflectivity is low.
(iii) For polished surfaces, reflectivity is high.
(iv) For gases, reflectivity is very low.
(A) (i), (iii) and (iv) are correct (B) (iii) and (iv) are correct
.(i), (ii) and (iv) are correct (D) (i) and (ii) are correct
110. Which of the following is not true?
.The presence of dropdowns is an indicator of arson.
(B) In cases of arson, trailers may be used to spread fire from one location to another.

(C) In some cases, the nature of the motive of an arsonist will help shape his or her modus
operandi.

(D) Arsonists may create fires with multiple seats.
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111.

112.

113.

114.

115.

116.

117.

The fire assembly point can be best described as:

(A) Where the fire extinguishers are stored

(B) An area that has a high risk for fires to occur

.An area where you are required to assemble in the event of a fire

(D) An area you are required to avoid in the event of a fire

Fraction of radiative energy leaving one surface that strikes the other surface is called:
(A) Radiative flux (B) Emissive power of the first surface
.View factor (D) Re-radiation flux

According to Gujarat fire prevention and life safety measures Act 2014, which notice shall
be issued to the owner or occupier of building or premises by the authorized officer for the
purpose of removal of objects or goods likely to cause the risk of fire:

(A) Form-B1 (B) Form-B2
.Form—B3 (D) Form-B4

The tank having 20 meter length, 10 meter width and 1.5 meter height. The correct capacity
of the tank in liter is:

(A) 2 x 105 Liter @3 x 105 Liter
(C) 5 x 105 Liter (D) 6 x 10° Liter

According to National Building Code, match the following classification of buildings under
fire prevention:

List1 List 1T
a. Group E 1. Institutional
b. Group G 2. Residential
¢. Group A 3. Industrial
d. Group C 4. Business
(A)a-2, b-1, c-4, d-3 @a-4,b-3 ¢c-2 d-1
(C)a-1, b-4,¢c-3, d-2 MD)a-3, b-2,c-1, d-4

Which of the following is typically not considered obstructed construction for fire sprinkler
design?

(A) Concrete tees with solid members 5 inch wide and 2 ft tall

.Heavy timber construction with 4 inch solid wood beams

(C) Beam and girder construction with 6 inch steel beams 6 ft apart

(D) Panel construction with panels under 300 sqft

Which of the following describes the phenomenon known as flashover?

.The involvement in a fire, over a very short time span, of essentially all of the fuel items
in a room or similar compartment as radiation from hot gases present in the upper parts
of the compartment causes ignition of the exposed surfaces of fuel items.

(B) The falling of burning materials during a fire, thereby producing secondary ignition at
low elevation.

(C) An explosion that occurs during a fire when fresh air is suddenly allowed to mix with air
in a compartment that is both oxygen-depleted and rich in flammable, volatile pyrolysis
products.

(D) The ignition of, and rapid spread of flame within, the hot gases that have accumulated in,
or are venting from, the upper part of a burning room or similar compartment.
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118.

119.

120.

121.

122.

123.

124.

125.

126.

A metal plate has surface square thickness 10 mm and a thermal conductivity of 200 W/m-K.
What is the thermal resistance (K/W) for the plate?

@25 ~ 105 (B) 1.5 x 105
(C) 1.4 x 10 (D) 2.5 x 1073

For a performance-based design, a fire protection consultant makes an assumption that the
production rate of carbon monoxide for a modeled fire package is equal to the highest
production rate of each of the component fuels. This assumption would be considered:

(A) Explicit safety factor .Implied safety factor
(C) Total safety factor (D) No safety factor

Consider the UFL for a certain flammable gas is 11.0% at 0.0 MPa gauge, what is the UFL
at 8.2 MPa gauge? (assume Log 8.2=0.92)

@) 50.5% (B) 52.2%
(C) 48.0% (D) 90.2%

The cylindrical portion of short length, which connects converging and diverging section of
venturimeter, is called as:

(A) Diffuser (B) Connector
.Throat (D) Manometer tube

Of the following substances, which would have the greatest total heat output for the same
amount of mass?

.Ethane (B) Methanol

(C) Toluene (D) Vinyl acetate

Which of the following is not Fires due to Common causes:

(A) Spontaneous combustion

(B) Electrical defect

(C) Spark from an engine, lighted match dropped lighted cigarette end etc.

.Arson

A cotton production facility has areas of the production where fibers are considered easily
ignitable. Which of the following trucks is not permitted in these areas?

(A) Diesel Type DY (B) Electric Type EE
.Diesel Type DS (D) Electric Type EX
A fire department connection may be installed by any of the following arrangements except:

(A) Between the supply control valve and the system control valves for multiple sprinkler
systems

(B) Attached to underground system piping, between the supply control valve (at the main
tap) and the system control valves (inside the building)

(C) Attached to main pipe on a system (on the system side of the system control valve) for
a single wet system

.Attached to the main service between the utility tap and the entry into a fire pump room
Which of the following would be considered a typical fire load for a bedroom?

(A) 0.4 - 0.8 Ib/ ft2 @32 - 5.5 w/1e

(O) 11 - 14 b/ {2 (D) 43 - 48 1b/ ft?
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127.

128.

129.

130.

131.

132.

133.

134.

135.

The cycle of disaster consists of the following components:
.Mitigation, Preparedness, Response, Recovery

(B) Preparedness, vulnerability assessment, risk assessment, recovery
(C) Mitigation, Risk assessment, Response and Recovery

(D) None of the above

The State Disaster Management Authority is headed by:

(A) Governor .Chief minister

(C) Chief Secretary of the State (D) None of the above

The ground enclosed by any temporary structure, pandal, tent or shamiana & a distance of
not less than outside of such structure shall be cleared of all combustible material:
(A) 5m @3 m

(C)4m (D) 8 m

Find LFL of a gas mixture composed of 8% hexane, 2.0% methane, 0.5% ethylene and rest
is air by volume? [Methane = 5.0% ; Ethylene = 2.7%; Hexane = 1.2%]

@) 1.45 % (B) 1.25 %

(C) 89 % D) 7.25 %

A class III commodity is encapsulated and stored on shelves within a large walk-in cooler. A
dry system is being designed to serve this hazard. If the storage is anticipated to be 13 ft. in
height with a 17 ft. ceiling, determine the required design density with the smallest remote
area for high temperature sprinkler protection using the Control Mode Density/Area
approach.

(A) 0.14 gpnv ft?/ 2,000 ft (B) 0.14 gpnv/ ft*/ 2,600 ft?
.0.15 gpm/ ft/ 2,600 ft2 (D) 0.17 gpnv/ ft%/ 2,000 ft?
The IS specification for automatic sprinkler head is:

(A) 9972:2002 .10204 11982

(C) 11070:1984 (D) 11101:1984

Find out the cut-sets of the following figure:

(A) A+B+C (B) AB+C

@) A+BC (D) ABC

A risk preference which is not fully attributable to an objective measure of loss is best
described as:

(A) Risk evaluation .Perceived risk

(C) Risk analysis (D) Risk estimation

A warehouse facility is seeking to store cartoned Level 3 aerosol products on pallets. If the
storage height is 10 feet in height with a 23 foot ceiling, what minimum k-factor must be
provided for the ceiling-level sprinklers protecting this area?

(A) K-8.0 (B) K-11.2
@ x-14.0 (D) K-16.8
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136.

137.

138.

139.

140.

141.

142.

143.

144.

145.

Down comer is fitted with at roof level:

(A) Rotating valve (B) Drain valve

(C) Landing valve .Air release valve

The sound level (peak value) of fire alarm sounder shall be not less than 65 dB (A) and not
more than when measured at a distance of 1.5 m:

(A) 70 dB (A) (B) 90 dB (A)

(C) 100 dB (A) @) 120 aB (4)

The essence of the fire process is an exothermic reaction which releases heat and other
products. Oxidation which takes place with reactants in the gas phase, as opposed to the
solids phase, results primarily in what kind of combustion?

.Flaming (B) Smoldering

(C) Detonation (D) Backdraft

Find LFL of ethane at 100°C [Hc = 400 Kcal/mol ; LFL (25°C) = 3.0% |
@&)2.56 % (B) 2.62 %

(C) 333 % D) 2.52 %

If your clothing catches fire, the best thing to do is:

(A) Stop, drop to the ground and roll into a ball to protect your face

(B) Stop, drop your clothes on the floor and run to the shower

.Stop, drop to the ground, and roll back and forth to smother the flames

(D) Stop, drop what you are doing and roll a towel or blanket over the flames

No door which is required as exit shall be less than meters in clear width and not
less than meters in clear height.

@22, 5 (B) 1.8, 6

©) 2,25 D) 2.1, 3

Who is responsible for coordinating the inspection, testing, and maintenance activities of
water-based fire suppression systems?

(A) Monitoring company .Owner

(C) Insurer (D) Inspecting contractor
Which of the following would not require a fire alarm system?

(A) A new second-floor tenant insurance sales office of 60 people

(B) An existing four-story fraternity house of 70 people

.A single-story 80,000 ft?> high-hazard warehouse of 90 people

(D) A new single-story 35,000 ft2 Class A department store

The main technique used to analyse samples suspected of containing liquid fire accelerants
is:

(A) Ultraviolet-visible spectroscopy. .Gas chromatography.

(C) X-ray diffraction. (D) Atomic absorption spectroscopy.
Which of the following IS code is relevant to breathing apparatus?

.10245-1: 1996 (B) 20545-1: 1986

(C) 12045-1: 2006 (D) 14205-1: 1976
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146.

147.

148.

149.

150.

151.

152.

153.

Which is NOT a type of fire sprinkler system?

(A) Pre-Action .Even-Distribution

(C) Dry Pipe (D) Deluge

The ways that an element of a system can fail to achieve its intended function is called:
.Failure modes (B) effect

(C) severity (D) probability

What is Ring of Fire?

.Belt of volcanoes in the Circum Pacific region
(B) Belt of volcanoes in the mid-continental region
(C) Belt of volcanoes in the mid-Atlantic region
(D) None of the above

A new community college building contains 26,000 ft> of small instructional classrooms, an
entry lobby, restrooms, offices, and a 15,000 ft?> auditorium is considered what type of
occupancy?

(A) Group A, Assembly (B) Group B, Business
(C) Group E, Education .Mixed Use

A new building is to have a wet pipe fire sprinkler system connected to an existing city main.
Which of the following tests is not required by NFPA 13 for the fire sprinkler system or
underground service?

(A) Flushing test (B) Hydrostatic test
(C) Main drain test .Water delivery test

According to Gujarat fire prevention and life safety measures Act, 2014, the fire safety
certificate issued under rule 23 unless sooner cancelled shall be valid for a period of

years for residential buildings (other than hotels) and __years for non-residential
buildings including hotels from the date of issue.

@)s, 3 B) 4, 6
©)3,5 D) 6, 2

Which of the following extinguishers would not be suitable for a fire containing oil-based
paints, solvents, alcohols, and lacquers?

(A) AFFF (B) Carbon dioxide
(C) Potassium chloride .Wet chemical

A building addition is to connect two existing buildings of different construction types. Which
of the following construction type arrangements is always permissible?

.Provide the least fire-resistive construction type of the connected portions with no fire
barrier separation

(B) Provide 1-hour vertically aligned fire barrier wall is installed between them to create
separate buildings

(C) Provide any construction type for the connection portion with 2-hour fire barrier between
buildings

(D) None of the above
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154.

15S.

156.

157.

158.

159.

160.

161.

162.

An open, unobstructed space connects an entry level lobby with a balcony on the level
above in a fully sprinklered residential building while separated from the remainder of the
building with a smoke barrier. If the space only has low hazard contents and meets egress
requirements, what type of space does it qualify as?

(A) Atrium .Communicating Space

(C) Convenience Opening (D) Two-Story Opening with Partial Enclosure
A fire protection consultant is providing performance-based design to justify innovative
architecture design and is assessing predictive behavior during exiting. Determine the
visibility (in m) for a light reflecting exit sign with smoke that is produced by flaming

combustion of plastic if the smoke has a mass concentration of 0.52 grams per cubic meter.
Conservatively use Mulholland and Croarkin’s specific light extinction coefficient.

@) 0.7 m (B) 1.3 m

(©) 1.8 m (D) 3.5m

The important technique used for identification of process hazard:
(A) Petri Net (B) FMEA

(C) HTA @) nazor

Which of the following statements are correct for the fire protection engineering involves:
(i) Predicting the development of fire

(ii) The consequences of fire

(A) Only (i) is correct (B) Only (ii) is correct

.Both (i) and (ii) are correct (D) Neither (i) nor (ii) are correct
Which of the following is a man-made disaster:

(A) Terrorism (B) Major fire

(C) Pollution @) A1l of the above

A fire alarm system containing horn/strobes, manual pull stations, fire sprinkler monitoring,
and heat detectors would be considered what type of fire alarm system?

(A) Manual, temporal-3

.Manual and automatic, temporal-3

(C) Manual, emergency voice/alarm communication

(D) Manual and automatic, emergency voice/alarm communication

At what location is it preferable to install smoke alarms?

(A) In the residence’s main entrance

(B) In the laundry room, the kitchen and the bathrooms

.In the hallways, near the bedrooms

(D) In a room exposed to fires (e.g.: kitchen, living room with fireplace, etc.)
Which country is known as the most forest fire prone country in the world?
(A) Uganda (B) Canada

.Australia (D) India

The pressure gradient that causes a liquid to move through the intake line to the pump
impeller is:

(A) Total static head .Net positive suction head
(C) Net discharge head (D) Rated head
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163.

164.

165.

166.

167.

168.

169.

170.

171.

Which one of the following falls under types of places of public entertainment

.Open type & Closed type (B) Crowded type & Un-crowded type
(C) Large & Small type (D) None

Failure or undesired event that initiates the start of an accident sequence is called as:
@) mnitiating Event (B) Pivotal Event

(C) Accident Scenario (D) Mishap

A continuous membrane with a fire protection rating constructed to limit the spread of fire is
which of the following?

(A) Smoke partition (B) Fire compartment
.Fire barrier (D) Proscenium wall

Firefighters are required to use portable ladders to rescue people. When firefighters are
positioning a metal portable ladder for a rescue, which one of the following would present
the greater threat to the firefighters’ safety?

(A) A person to be rescued who is standing near an open window
(B) Tree branches that are close to the ladder

(C) A person to be rescued who is dressed in a long robe
.Overhead electrical wires that are close to the ladder

If the fusible link type sprinkler head has blue yoke arm, then the rating of the sprinkler
head would be:

@) 141°C (B) 227°C
(C) 182°C (D) 100°C

What is the pressure in pipe when measure by vertical water column manometer shows
reading of 1.5 meter height from its center of pipe (Take g = 10 m/s2).

(A) 20 KPa (B) 30 KPa
(C) 50 Kpa @) 15 Kpa

A new healthcare building is being designed with a suite with no sleeping areas and full
smoke detection. What is the required construction for the corridor walls?

(A) Smoke partition only

(B) Smoke barrier only

(C) 1-hour fire resistance and smoke barrier

.None of the above

What is the effect of change in Reynold’s number on friction factor in turbulent flow?
(A) As the Reynold’s number increases the friction factor increases in turbulent flow
.As the Reynold’s number increases the friction factor decreases in turbulent flow
(C) Change in Reynold’s number does not affect the friction factor in turbulent flow
(D) Unpredictable

Which one of the following is a geological disaster?

.Tsunami (B) Storm surge

(C) Flood (D) Wild fire
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172.

173.

174.

175S.

176.

177.

178.

179.

180.

181.

An opening within a smoke partition for air transfer requires what type of protective device?
(A) Fire/smoke damper, minimum 45 minute rating

(B) Fire/smoke damper, minimum 1.5 hour rating

.Smoke damper, minimum 250 f rated

(D) Smoke damper, minimum 350 f rated

Which of the following material should not be used in the construction of explosive stores?

(A) Concrete (B) Stone

(C) Brick @) Wood

What is the duration for fire resistance of internal walls of large storage premises?
.4 hours (B) 2 hours

(C) 3 hours (D) 6 hours

Which of the following techniques best suited for human hazard analysis?

(A) Preliminary hazard analysis (PHA) .Hierarchical task analysis (HTA)
(C) HAZOP (D) Petri Net

A four-story low-rise senior retirement living facility is being designed without the need for
health support services. Which of the following areas, which each serve the entire floor
level, does not require a minimum of one-hour fire resistance rating?

(A) A 300 ft? laundry room (B) A 50 ft? trash room

.A 100 ft? storage room (D) All of the above

One Atmospheric Pressure is equal to:

(A) 101.32 Kilo Pascal (B) 1.013 Bar

(C) 14.6959 Psi @) A1l of the above

The maximum number of heads for one set of controlling valve in wet pipe system is
(A) 1500 @) 1250

(O) 1750 (D) 2000

A liquid storage tank rupture results in a fire containing an open 45 gallon (130 kg) tank
containing animal fat. Using gross heat of combustion, estimate the time it would take to
burn the remaining fuel without interruption if the tank is half filled and the fire is
approximately 2.45 MW.

(A) 1.2 seconds (B) 11 minutes
.18 minutes (D) 17.6 hours

Which of the following arrangements is not permitted for a new prison, under NFPA
standards?

(A) Sprinkler Protected, Type II (222) Construction, High-Rise Building
.Sprinkler Protected, Type II (000) Construction, 3-Story Building
(C) Sprinkler Protected, Type IV (2HH) Construction, 2-Story Building
(D) Sprinkler Protected, Type V (000) Construction, 1-Story Building
The Pitot tube is used to measured

(A) Flow of liquid (B) Pressure of liquid

@) velocity of liquid (D) Density of liquid
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182.

183.

184.

18sS.

186.

187.

188.

189.

The entrance length or length of establishment of flow is:
(A) The pipe length inside the reservoir

.The initial length in which the flow develop fully such that the velocity profile does not
change down stream

(C) The length of pipe from its entrance in which the flow may be assumed irrotational
(D) The length in which boundary layer remain constants

Considering all potential components in a building, which of the following occupancies has
the most restrictive requirements for material flame spread and smoke development?

.New day-care centers (B) Existing duplex home
(C) Existing class b department store (D) New large warehouse

If the relationship below describes the growth phases of fire, what point does the arrow
indicate?

\:

(A) Ignition (B) Ceiling jet creation
. Flashover (D) Growth

Which of the following is not a preferred interface between fire alarm and smoke control
systems due to the requirement for equipment to be listed as compatible?

(A) Equipment connected to Building Automation/Management System, which is connected
to Fire Alarm by network connection

(B) Equipment connected to Building Automation/Management System, which is connected
to Fire Alarm by electrical contact/relays

.Digital Control Equipment connected directly to Fire Alarm System via network
connection

(D) Mechanical Equipment connected directly to Fire Alarm System via contacts/relays
Which of the following fires are caused deliberately?

.Arson or Sabotage

(B) Spontaneous combustion

(C) Electrical defect

(D) Spark from an engine, lighted match dropped lighted cigarette etc

In bowtie analysis, initiating event of an event tree is called as:

(A) Basic event (B) Pivotal event

.Central event (D) Accident scenario

A mixture containing two flammable gases having 80% methane and 20% ethane, with LFL
(CHy) = 44 % and LFL(C,Hg) = 2.4 %, the lower flammability limit of mixture is:

@) 3.8% (B) 4.0%

(©) 6.8% D) 2.0%

The pressure maintained in the yard hydrant system is:
(A) 20 kg/cm? (B) 15 kg/cm?
(C) 10 kg/ cm? @) 7 xe/em?
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190.

191.

192.

193.

194.

195.

196.

197.

Equipments like: Control desk, Clock & Calendar, Street fire alarm panel, Fire telephone
lines, House bells, Exchange telephone, Map of the area, Service Log/Occurrence Book
etc are required for a Control/Watch Room are studied under head of:

.Essential equipments (B) Supplementary equipments
(C) Ordinary equipment (D) None of the above
Which of the following is not true?

(A) In conventional fires, the flammable gas that is necessary for the presence of flames may
arise from the pyrolysis of a solid fuel.

.Given sufficient time and enough ventilation, a smouldering fire will always convert into
a full flaming, char-producing fire.

(C) Well-ventilated char that is undergoing smouldering combustion can produce small flames.

(D) A flammable material that is used to facilitate and/or increase the rate of spread of fire
and/or increase the intensity of fire in known as a fire accelerant.

The lowest temperature where a liquid will ignite and achieve sustained burning when
exposed to flame is which of the following?

(A) Boiling point .Fire point

(C) Flash point (D) Lower flammability limit
A fire detector cannot detect:

(A) Radiation (B) Heat

@ Lignt (D) Smoke

A high-rise building is to use a pressurized tank (half air-half water) to supply automatic
sprinkler systems. If hydraulic calculations determine that 55 psi is required to supply the
sprinkler system, what tank pressure is required?

(A) 55 psi (B) 95 psi
@) 125 psi (D) 140 psi

For a given failure mode, if the scores for the probability of occurrence, severity and
detectability are 9, 5 and 4 respectively, what will be the risk priority number (RPN)?

(A) 45/4 (B) 18
@ 130 (D) 20/9

A liquid flowing in a pipe a head loss of 2 m in pipe length of 10 m. The Reynolds number of
the flow is 100. If the flow rate is doubled and all other properties remain the same, the head
loss in m is

(A) 0.5 @) s.0

©) 4.0 (D) 2.0

If a pot on the stove catches fire, the correct action is to:

(A) Turn the burner off and leave the room until the fire goes out
(B) Slide a proper-fitting lid over the pot and put the pot in the sink
(C) Throw baking power on the fire to extinguish the flames
.Slide a proper-fitting lid over the pot and turn off the burner
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198.

199.

200.

201.

202.

203.

204.

205.

206.

A 300 mm long fire fighting branch has inlet and outlet diameter as 63 mm and 20 mm
respectively. A fireman holds the branch in such a way that inlet and outlet of the branch is
1.45 m and 1.50 m from the ground level. If 600 liters of water is flowing per minute through
the branch find out the pressure at the outlet of the branch using Bernoulli’s equation assuming
the pressure at the inlet as 6 bar and that there are no losses in the branch:

.1 bar (B) 2 bar

(O) 5 bar (D) 4 bar

The static discharge head equals the sum of all of the following except:
(A) Total static head .Discharge system losses
(C) Suction system losses (D) Net suction head

If the sprinkler head has green bulb, then the rating of the sprinkler head would be
(A) 141°C @) 93°C

(C) 68°C (D) 100° C

Friction loss varies directly with respect to the following:

(A) Diameter of pipe .Length of pipe

(C) material of pipe (D) None of these

The range of a sample gives an indication of the:

(A) Way in which the values cluster about a particular point

(B) Number of observations bearing the same value

.Maximum variation in the sample

(D) Degree to which the mean value differs from its expected value.

Which of the following characteristics describe limitations which may affect survivability in a
fire environment, such as metabolism, lung capacity, pulmonary disease, allergies, or other
physical limitations?

(A) Mobility (B) Reactivity
(C) Sensibility .Susceptibility

A circular RCC tank having 7 meter diameter and 2 meter height. Choose the correct
capacity of the tank in liter:

@) 77000 titer (B) 80000 liter
(C) 85000 liter (D) 90000 liter

Find UFL of a gas mixture composed of 8.8% propane, 2.2% methane, 1.5% butane and
rest is air by volume? [Propane = 9.5% ; Methane = 15%; Butane = 8.4%]

@) 9.98% (B) 12.50%
(C) 7.01% (D) 12.92%

In which of the following scenarios is neither explosion protection nor suppression system

required?

(A) Flammable paint warehouse mixing rooms where open transfer of paint occurs

(B) Dust ventilator equipment where the dust density can be above its lower flammability
limit

(C) Mechanical room where service equipment is subject to explosion

.All of the above require either explosion protection or suppression systems
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207.

208.

2009.

210.

211.

212.

213.

214.

A copper block and an air mass block having similar dimensions are subjected to symmetrical
heat transfer from one face of each block. The other face of the block will be reaching to the
same temperature at a rate:

(A) Faster in air block .Faster in copper block

(C) Equal in air as well as, copper block (D) Cannot be predicted with given information
Halocarbon clean agents are effective fire extinguishing products due to what principal(s):
(i) Oxygen dilution

(ii) Heat extraction

(iii) Chemical combustion interruption

(A) (i) only (B) (i) and (ii) only

(C) (ii) and (iii) only .(i), (ii), and (iii)

The failure probability of initiating event is 0.0028, failure probability of protection level 1
and protection level 2 are 0.07 and 0.05 respectively. The probability of S2 is :

Initiating

event Protection level 1 | Protection level 2 | Consequences

[ s ]
[ 007 | | [ Failure| [ 0.05 ]

(A) 0.002604 @) 0.0001862
(C) 0.0000098 (D) 0.0009822

A device has a constant failure rate of A = 10~ failures per hour. If there are 1000 such
devices, how many will fail in 1000 hour?

(A) 990 (B) 1000

(C) 100 @) 10

Minor losses occur due to:

(A) Sudden enlargement in pipe (B) Sudden contraction in pipe
(C) Bends in pipe @) Al of the above

The mixing of high velocity water droplets with burning oil is called:
.Emulsification (B) Flooding

(C) Accumulation (D) Dilution

In order to reduce the Risk Priority Number, which of the following parameters should be
considered first?

.Probability of occurrence (B) Severity

(C) Detectability (D) None of the above

No part of the electrical circuit in the structure or pandal shall be within of any
decorative material:

.15 cm (B) 25 cm

(©) 35 cm (D) 45 cm
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215.

216.

217.

218.

219.

220.

221.

222.

223.

224.

What should be done when the smoke alarm emits intermittent audible signals?

(A) Remove the battery (B) Call the fire department

.Replace the battery (D) Replace the smoke alarm

Which of the following sentences are true for Bernoulli’s equation?

(i) Bernoulli’s principle is applicable to ideal incompressible fluid

(ii) The gravity force and pressure forces are only considered in Bernoulli’s principle
(iii) The flow of fluid is rotational for Bernoulli’s principle

(iv) The heat transfer into or out of fluid should be zero to apply Bernoulli’s principle

(A) (i), (ii) and (iii) (B) (i), (iii) and (iv)
.(i), (i) and (iv) (D) (i), (ii), (iii) and (iv)
There is 6 % propane in air, find the equivalence ratio of the mixture.
@) 1.711 (B) 0.38

(O) 2.21 (D) 0.46

PUVCE stands for

.Percussive Unconfined Vapour Cloud Explosion

(B) Percussive Unconfined Vapour Cloud Expansion

(C) Percussive Unconfined Vapour Cloud Evaporation

(D) All of the above

The hammer blow in pipes occurs when:

(A) There is excessive leakage in the pipe

(B) The pipe bursts under high pressure of fluid

.The flow of fluid through the pipe is suddenly brought to rest by closing of the valve
(D) The flow of fluid through the pipe is gradually brought to rest by closing of the valve
How is fire sprinkler systems activated?

(A) Smoke @) Heat

(C) Flame (D) Flammable sprays

Smoke alarms should be tested:

(A) Every week .Every month

(C) Twice a year (D) Whenever the low-battery warning sounds

Heat is conducted through a 10 cm thick wall at the rate of 30 W/m? when the temperature
difference across the wall is 10°C. What is the thermal conductivity (W/m-K) of the wall?

@) o3 (B) 0.03

©) 3.0 (D) 0.46
Formula to calculate risk considering risk perception is:
A R=PxC B)R=P'x C
(COOR=PY/C @r=rxCr

What is the relationship between Orifice-meter diameter and pipe diameter:
(A) Orifice-meter diameter is 0.5 times the pipe diameter

(B) Orifice-meter diameter is one third times the pipe diameter
.Oriﬁce-meter diameter is one fourth times the pipe diameter

(D) Orifice-meter diameter is equal to the pipe diameter
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225.

226.

227.

228.

229.

230.

231.

232.

233.

The risk associated with degradation of system is called as:
(A) Individual risk (B) Societal risk
.Entropy risk (D) Residual risk

The values of individual component reliability are given the following figure. The overall
unavailability of the following system is:

a b
—] 0.81 —— 0.82 —
C
|I 0.72
Fo—
d e
—— 091 |—— 090 }—
@) 0.045 (B) 0.029
(C) 0.954 (D) 0.971
Wild fire in north America is known as:
.Bush fires (B) Brush fires
(C) Forest fire (D) None of the above
With increase in pressure, auto-ignition temperature:
.Decreases (B) Increases
(C) Remains Constant (D) Behaves Unpredictably

The act, omission or defect that allowed the conditions necessary for the ignition of the fire
to occur and the fire to be started is known as:

(A) The seat of the fire. (B) Fire setting.

(C) Arson. .The cause of the fire.

Extinguishment of fire by cooling the solid or liquid combustible is effective primarily because:
.The cooling prevents production of combustible vapors

(B) The cooling interrupts the chain reaction

(C) The cooling surface will condense moisture from the air, pre-wetting surfaces

(D) All of the above

The minimum orifice diameter of sprinkler heads used for high hazards is

(A) 10 mm @) 15 mm

(C) 20 mm (D) 25 mm

Which of the following IS code is relevant to crash fire tender?
(A) 9972:2002 (B) 10204:1982
(C) 11070:1984 .5896:1970

A starch processing facility handles and processes starch dust. The plant’s process has
equipment which, under mechanical failure, could produce combustible dust in some areas
of the facility. What type of truck would be permitted in these areas of the facility?

(A) Electrical Type EE (B) Electrical Type ES
.Diesel Type DY (D) Gasoline Type GS
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234.

235.

236.

237.

238.

239.

240.

241.

242.

Which of the following occupancies have no difference in maximum permitted travel distance
for sprinklered versus un-sprinklered buildings?

(A) Existing Day Care .Residential Lodging
(C) Existing Mercantile (D) New Business

The emissive power of a black body is P. If its absolute temperature is doubled, the emissive
power becomes:

(A) 2P (B) 4P
(C) 8P @) 16p

The minimal cut sets for the following top event are:

A
OIONORC

.{Bl, B2}, {B3}, {B4} (B) {B1, B3), {B2, B4}
(O) {B1, B2}, {B3, B4} (D) {B1, B2, B3}, {B4}
The Disaster Management Act was made in:

(A) 2006 (B) 2003

@) 2005 (D) 2009

The IS specification for code of practice for installation and maintenance of internal hydrants
and hose reels on premises is:

(A) IS 4190:1992 (B) IS 5189:1999
@) 1s 3844:1989 (D) IS 4808:1979

An electric heater draws 24 A from 240 V, the resistance of the heating element is
approximately Ohms:

(A) 240 (B) 480

(C) 20 @) 10

Fire sprinkler system design has been based upon all of the following except:
(A) Empirical flow and pressure loss calculations

(B) Application of experienced judgment and reasoning

.Mathematical suppression modeling

(D) Evolutionary changes based on fire loss

The temperature where the vapor pressure of a liquid is the same as the surrounding
atmospheric pressure is which of the following?

.Boiling point (B) Fire point

(C) Flash point (D) Lower flammability limit

Which of the following agents are not used for metal fires containing magnesium?
(A) Boron Trifluoride (B) Boron Trichloride

(C) Argon .Nitrogen
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243. In HAZOP study, deviation can be defined as:

.Guide word + parameter (B) Study node + guide word
(C) Study node + causes (D) Guide word + consequences

244,  The discharge through 18 mm diameter nozzle operating at a pressure of 4 bar is:
(A) 320 LPM @) 432 LPMm
(C) 720 LPM (D) 400 LPM

245.  High velocity water spray projector system is used to extinguish the fires:
(A) Coal .Transformer
(C) Wood (D) Kitchen

246. Class A type of public entertainment building includes:
.Building having theatrical stage & fixed a seats for over 1000 persons
(B) Building having theatrical stage & fixed a seats for less than 1000 persons

(C) Building without a stage & having accommodation a for 300 or more persons but no
permanent seating arrangement

(D) Building without a stage & having accommodation a for less than 300 persons
247.  Which three of the following are key elements of a fire safety management system?

(i) Maintenance Plan

(i) Staff Training Plan

(iii) Fire Action Plan

(iv) Fire Access Plan

@) o, (i), (iii) (B) (@), (i), (iv)

(©) (), (iii), (iv) (D) (i), (iii), (iv)

248. What is the greatest allowed spacing among all pipe sizes between hangers for CPVC pipe
in fire sprinkler systems?

(A) 6'-0" (B) 9'-0"
@) 10-0" (D) 12'-0"
249.  The probability of minor accident of the following scenario is:
el i
o a——
0.07
(B) 0.00545
(C) 3.81 x103 (D) None of the above
250.  The ratio of energy transferred by convection to that by conduction is called:
(A) Reynolds number (B) Stanton number
.Nusselt number (D) Grashoff’s number
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251.

252.

253.

254.

255.

256.

257.

258.

Which of the following mentioned standard Probability density functions is applicable to
discrete Random Variables?

(A) Gaussian Distribution .Poisson Distribution
(C) Rayleigh Distribution (D) Exponential Distribution

When installed in an open area, the inlet valve and nozzle retainer of the hose reel should be
at least above floor level:

@) 700 mm (B) 800 mm

(C) 900 mm (D) 1000 mm

The observation which occurs most frequently in a sample is the:
(A) Median (B) Mean deviation
(C) Standard deviation .Mode

What are the elements of hazard triangle:

(A) Hazard, risk, Target/Threat

(B) Risk, Hazard, Initiating Mechanism

.Hazard, Target/Threat, Initiating Mechanism

(D) Target/Threat, Initiating Mechanism, Safety
Which one of the following is a fully correct statement?

(A) Combustion is an exothermic redox reaction. Redox reactions are those that involve
the complete transfer of electrons from one chemical species to another. The chemical
species that loses electrons is known as the oxidant or oxidising agent.

.Combustion is an exothermic redox reaction. Redox reactions are those that involve
the complete transfer of electrons from one chemical species to another. The chemical
species that gains electrons is known as the oxidant or oxidising agent.

(C) Combustion is an exothermic redox reaction. Redox reactions are those that involve
the complete transfer of electrons from one chemical species to another. The chemical
species that gains electrons is known as the reductant or reducing agent.

(D) Combustion is an endothermic redox reaction. Redox reactions are those that involve
the complete transfer of electrons from one chemical species to another. The chemical
species that gains electrons is known as the oxidant or oxidising agent.

The pressure at the 15 mm diameter nozzle flowing at a rate of 280 LPM is
@) 3.48 bar (B) 18.66 bar
(C) 15.62 bar (D) 1.25 bar

Equipments like: Enquiry bell, turnout lightings, alternate lighting, automatic appliance start,
wireless apparatus, switch for appliance signal light etc are required for a Control/Watch
Room are studied under head of:

(A) Essential equipments .Supplementary equipments
(C) Ordinary equipments (D) None of the above

Historically, places of assembly have had major loss of life due to what unique building
elements?

(A) Combustible loads that aid in rapid fire growth
(B) Inadequate exiting

(C) Overcrowding

.All of the above
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259.

260.

261.

262.

263.

Where otherwise provided in accordance with code, which of the following is not an acceptable
water supply for a fire sprinkler system?

(A) Grade-level water storage tank (B) Lake reservoir

(C) Reclaimed water collection .All of the above are acceptable
Consider the following fire hydrant flow tests conducted at the same elevation:
Test A: 75 psi Static, 60 psi Residual at 1,200 gpm

Test B: 65 psi Static, 60 psi Residual at 1,800 gpm

Test C: 70 psi Static, 45 psi Residual at 1,200 gpm

Which of the following is true?

.Test A would provide better pressure than Test B for a 1,500 ft> Light Hazard sprinkler
system.

(B) Test A would provide better pressure than Test B for a 3,000 ft> ESFR sprinkler system.

(C) Test B would always provide better pressure than Test C for any type fire sprinkler
system.

(D) Both (A) and (C)

Read the following statements and then decide which of the answers is correct.

(i) During fire scene investigations, indicators of the intensity of destruction —such as char

depth measurements — can be of significant value in establishing the location of the seat
of the fire.

(ii) Factors such as the degree of ventilation, fuel loading and fire-fighting activities can
have a significant impact on the intensity of destruction that is wrought at any one location
within a given fire scene.

(A) Statement (i) is false but statement (ii) is true.

.Both statement (i) and statement (ii) are true.

(C) Both statement (i) and statement (ii) are false.

(D) Statement (i) is true but statement (ii) is false.

A remote camp facility is being planned which intends to operate seasonally. Due to the
remote nature of the site and lack of easy access to nearby mains, a water storage tank is
being considered to supply the site fire sprinkler systems. It is intended to have atmospheric
pressure, water temperature, water level, and heating system which are all supervised by a
central station. During the offseason in the winter, what is the most frequent that these
components must be inspected?

(A) Weekly (B) Monthly
.Quarterly (D) Semiannually

The susceptibility of various types of wall surfaces to fire is determined in terms of the rate
of spread of flame. According to National Building Code, match the following based on the
rate of spread of flame:

List1 List II
a. Class 1 1. Surfaces of low flame spread
b. Class 2 2. Surfaces of very low flame spread
c. Class 3 3. Surfaces of rapid flame spread
d. Class 4 4. Surfaces of medium flame spread
@a-2,b-1,c-4,d-3 B)a-4, b-3, ¢-2, d-1
Ca-1,b-4,¢c-3, d-2 MD)a-3, b-2, ¢c-1, d-4
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264.

265.

266.

267.

268.

269.

270.

271.

272.

273.

Annual inspection of wet barrel hydrants must include all of the following except:
.Verify marking of hydrant (B) Verify outlet thread condition
(C) Verify access to hydrant (D) Verity cracks in hydrant barrel
Major difficulty in investigation is:

.Loss of evidences due to extinguishing the fire by water

(B) Lack of officials for investigation

(C) Lack of facilities for investigation

(D) None of these

What are the assumptions made for a fluid flow through a pipe?

.Fluid inertia is not taken (B) Viscosity is not taken

(C) Volume is not considered (D) Mass is not considered

When exposed to fire, concrete has very little strength left after:

(A) 500°C (B) 300°C

(C) 200°C @) 600°C

A hospital’s patient tower has an exit access corridor with !/, hour partition fire resistance
rating on the first level. If the interior architect would like to provide side transoms (narrow
windows) along the side of the doors that lead to the exit access corridor, what fire resistance
rating must the transoms have?

@)'/; nour (B) 1/, hour
(C) 3/4 hour (D) 1 hour

Under most circumstances, the most efficient mechanism for the transfer of heat from burning
fuel to fuel that is yet to ignite is:

(A) Conduction. . Convection.

(C) Radiation. (D) None of the above.
Which of the following methods should be adopted to prevent PUVCE:
.Ventilation (B) Cooling

(C) Smothering (D) None of the Above

Class C type of public entertainment building includes:
(A) Building having theatrical stage & fixed a seats for over 1000 persons
(B) Building having theatrical stage & fixed a seats for less than 1000 persons

.Building without a stage & having accommodation a for 300 or more persons but no
permanent seating arrangement

(D) Building without a stage & having accommodation a for less than 300 persons

A device has a constant failure rate of A = 10 failures per hour. What is its reliability for an
operating period of 1000 hour?

(A) 9.95 x 105 @) 0.99
(C) 9.9 x 10 (D) 10

As per National Building Code of India, the level of fire resistance for evacuation routes is
a minimum of hour:

(A) 4 B) 1

©): (D) 3
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274.

275.

276.

2717.

278.

279.

280.

281.

282.

283.

284.

The National Disaster Management Authority (NDMA) is headed by:

(A) President of India .Prime Minister of India
(C) Governor of States (D) Chief Minister of States
In HAZOP study, guide word “As well as” stands for:

(A) Qualitative Decrease (B) Quantitative Increase
(C) Quantitative Decrease .Qualitative Increase

In hazard and operability (HAZOP) study, the locations at which the process parameters are
investigated for deviations are called as:

.Study nodes (B) Intention
(C) Deviations (D) Causes

According to National Building Code, the fire and life safety audit shall be carried out for all
buildings having a height of more than 15 m is:

(A) Every 6 months (B) Twice in a year

.Once in two years (D) Once in every 5 years

As the temperature increases, the thermal conductivity of a gas:

.Increases (B) Decreases

(C) Remains Constant (D) Increases to Certain limit then decreases

The velocity of flow at the 20 mm diameter nozzle flowing at a rate of 500 LMP is:

(A) 25.5 m/s (B) 22.4 m/s

(C) 20 m/s @) 26.5 ms

The dry pipe sprinkler system is used in:

(A) Flour mills (B) Coal yards
.Cold storages (D) Timber depots

Which of the following agents has the highest required extinguishing concentration for a UL
Class A design fire?

@) urc-125 (B) HFC-227ea
(C) FK-5-1-12 (D) All agents require the same density

If, during a fire, a total occupant load of 205 people are exiting through a building’s main
entry (a 7-foot double door with an effective width of 6.5 ft) and the density near the main
exit door results in about 0.25 persons/sqft, the time (in minutes) it would take for all of
these occupants to exit the main doors is most nearly:

(A) 1.5 min @) 1.6 min

(C) 2.2 min (D) 6.3 min

With respect to stairways, the treads shall not be less than cm & risers not more
than cm:

@) 3o, 15 (B) 45, 25

(©) 30, 56 (D) 20, 15

In free convection heat transfer transition from laminar to turbulent flow is governed by the
critical value of the:

(A) Reynolds number (B) Reynolds number, Grashoff number
.Prandtl number, Grashoff number (D) Grashoff’s number
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285.

286.

287.

288.

289.

290.

291.

292,

293.

Nozzle used in foam fire extinguisher is:

(A) Convergent Nozzle .Divergent Nozzle

(C) Convergent and divergent Nozzle (D) None of the above

The common factors of wildfire hazards are:

(A) Lightening (B) Volcanic eruption

(C) El-nino @) A1l of the above

Fires that are fueled by require you to use water fire extinguishers in order to fight
them:

(A) Live electricity

(B) Gasoline, kerosene, and other flammable liquids
.Solid materials; such as wood, paper, and textile
(D) Propane, butane, and other flammable gases

A table with all possible value of a random variable and its corresponding probabilities is
called

(A) Probability Mass Function (B) Probability Density Function
(C) Cumulative distribution function .Probability Distribution

In fault tree analysis, event symbols describe the events that lead to:
.System level failure (B) Component level failure

(C) Sub component level failure (D) Parts level failure

Which of the following regions of the “bath tub curve” is represented by the exponential
failure rate?

(A) Burn-in region (B) Wear-out region
@) Useful life region (D) All of the Above
An engineering approach to fire protection design based on:
(A) Established fire safety goals and objectives

(B) Deterministic and probabilistic analysis of fire scenarios

(C) Quantitative assessment of design alternatives against the fire safety goals and objectives
using accepted engineering tools, methodologies, and performance criteria

.All of the above
The unavailability of the following system is:

0.23 0.36
(A) 0.072 (B) 0.0828
(C) 0.678 @) 0.5072
What should be done when the smoke alarm emits a continuous signal?
(A) Panic and scream (B) Call the fire department right away
(C) Attack the fire .Leave and gather outside the residence
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294,

295.

296.

297.

298.

299.

300.

BLEVE stands for:

(A) Boiling Liquid Evaporation Vapour Explosions

(B) Boiling Liquid Evaporation Vapor Expanding

.Boiling Liquid Expanding Vapour Explosions

(D) None of the Above

Which of the following forces generally act on fluid while considering fluid dynamics?
(i) Viscous force;

(ii) Pressure force;

(iii) Gravity force;

(iv) Turbulent force,

(v) Compressibility force

(A) (i), (iii), (iv) and (v) B) (i), (ii), (iii) and (v)

(©) (i), (ii), (iii) and (iv) .(i), (ii), (iii), (iv) and (v)

If device 2 performs its intended functions under the boundary condition of device 1, then
the dependency between both devices is called as:

(A) Common unit coupling (B) Proximity coupling
.Functional coupling (D) Human coupling

If a fireman holding 15 mm diameter nozzle experiences a back thrust of 200 N, then the
pressure on the nozzle will be:

@) 5.66 bar (B) 1.57 bar

(C) 7.68 bar (D) 3.48 bar

The amount of energy required to raise the temperature of 1 kg of fluid by 1 deg C is:
(A) Conduction Coefficient (B) Enthalpy

(C) Entropy .Speciﬁc Heat

Minor losses do not make any serious effect in:

(A) Short pipes .Long pipes

(C) Both the short as well as long pipes (D) Cannot say

If 60 J of energy is available for every 15 C of charge, then the voltage is:
(A) 60 V @4 v

oO15v D)9 Vv
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